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Note : (i) Question No. 1 is compulsory.
(it) Attempt any eight questions from

question nos. 2 to 10.

1. (a) Expand the following terms : 5x1=5
1 ET
(1)) WP
(111) SIT
(iv) EDCT
(v) GEP

P.T.O.
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(b) Define the following terms : 5x1=5
(1) Hybrid sterility
(11) Stomach poison
(i11) Integrated pest management
(iv) Pest spectrum
(v) Biotic potential

(c) Differentiate between the following pairs of

terms : 5%2=10
(1) Perennial and occasional pest

(11)) Hemimetabolous and Holometabolous

insects
(111) Cropping system and farming system
(iv) Acute poisoning and chronic poisoning
(v) Pest resurgence and pest replacement
2. Give scientific name and the damage caused by
the following pests : 5x2=10

(a) Lemon butterfly
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(b) Gram cutworm
(c) Spotted bollworm
(d) Sugarcane shoot borer
(e) Paddy stem borer
(a) What 1s remote sensing technology ?

Explain its role in the field of agriculture. 5
(b) Enlist the drawbacks of indiscriminate use

of pesticides. 5

With the help of suitable examples explain any

four cultural methods of pest management. 10
(a) Why is it necessary to have legislative
control in India ? 5

(b) What is inherited sterility ? With the help
of a flow chart explain the operation of

inherited sterility. 5

(a) How does society play an important role in

shaping the design of IPM programme ? 5

P.T.O.
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Explain the role of Farmer Field School
(FFS) for the development of a sustainable

agricultural system. 5

Give the name of three different kinds of
mosquitoes found in India and the diseases

caused by them. 6

List any four methods of rodent control in

the field of agriculture. 4

Briefly explain the principal strategies

used for managing pests. 5

What are third generation insecticides ?

With the help of suitable examples explain

their role in IPM. 5
Define microbial pesticides. Discuss their
role in pest control. 5
Explain any two pesticide application

equipments giving its advantages and

disadvantages. 5
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10. Write short notes on any two of the following :

(a)
(b)
(©
(d)

5x2=10
Public Health Clinics
Sustainable agriculture
Neem as pesticide

Insect Traps

P.T.O.
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TH.UH.-01 : HTR{AA USeh UaeH

gag : 3 Hyu2 3R dH 37F : 100

TS : (i) 9T G 1 AfEE 2l
(ii) 999 9= 2 ° 10 a& [H=2l S F9

% I Tl

1. () F=fafed d@faga T & qoi 9@ fafeg -

5x1=5
@ % 3. (ET)

(i) e=g, Gl. (WP)

(iii) TE. TE. . (SIT)
(iv) T €. 9. & (EDCT)
(v) St 3 @ (GEP)
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(@) ffafed agf =1 9ftafig s @ 5x1=5
() HhL FEIa

(i) AHEEE/SS fau

(iii) HHTRIAT dreeh =
(iv) e T
(v) S fawa

() FefafEd T=k-g § TR TR Hif

5x2=10

() wEgaNa R FEHE deh

(i) 3Tqul wHrETAwEl SR gl wEIEET Fie

(i) T qF R FF q

Gv) dar  faordier SR fawetes
[EEIESIETU!

(v) died Jec R Wi gfaeemm

2. frefafaa desl & o= Tm iR 79 BF
gt aifd =t fafay : 5%2=10
G) AT T

P.T.O.
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(ii) UM weaH (HIIT geEl)
(iii) TieE dfctad

(iv) T T I T (3R 95h)

(v) =E/¥H 1 VY AR (I D5 )

. (F)FR HIA Uit = e © 2 v @
& H 3! qfHeT &1 aui Sifsu) 5

(@) NEHAE & ifaassiiad ST & F
Tt & 2 5

. 3UYF 3ITEON H TEEd § dEwd Yaud &
frl =R fafta &1 aviv +ifsw) 10

. (F)9ra § duifie FEE &1 g = sTeavas
g ? 5
(@)Y Seadl 1 Bl @ 2 AISHT STRE o

TEEAl © I S gdl o k1 i i
fafy &1 9o wifs) 5
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. (F)E. W TH HEHH Hi feoEd &l 3THR

9N T "eaqu fet feE TER

furar & 2 5

(@)Waq & 9 & fowm & fau feam eq

Tl Wi YfHeRT sl T HifST) 5

. (F)YRG H IW I g qi1 i yeR &

Tl % R ST9 BH O UM % A
ERIEY 6

(@)®f & &3 o FHawl & FEA0 FfFRS
ur fafi=t w1 gEes Hifs) 4

. (F)NEHl & Yo & faw ST HT SH Arel

qeA wEHlfGE o1 | 9o RS 5

(@)ded dE & wlet @ © 7 sfud
SIELON hi HeEFdl | 3TE. W), TH. H 3t
qfHeRT 1 T IS 5

P.T.O.



[10] APM-01

9. (%)QEHSHA/AMUR digehaneral ol qRwIfE

Hifsal diesw fEor § IRt gfier ™
== TSy 5
(@) gt & SHwam g fE=l &
TR & SR H ITh A1 3R ThAHl B
T G it 5

10. fFrfafes & @ fFsl @t W @y fewfort
fafay - 5%2=10
() urey ey fefenTd
(@) waq %S
(1) feHART & ®9 H 1
(¥) sl 90
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